## **City of Sausalito Ferry Landside Improvement Project**

## **Bid Tabulation**

Bid Opening Date - July 22, 2024 at 2:00 PM at Sausalito City Hall

Rase Rid	Base Bid			Engineers Estimate		Bauman Landscaping Inc.		Kerex Engineering, Inc		Ghilotti Brothers	
Визс Вій				Engineers	Estimate	Buaman Land	Scaping inc.	Kerex Engine	Jernig, me	Omtotab	Others
#	Description	Quantity	Unit	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost
1	MOBILIZATION, DEMOBILIZATION, AND FINAL CLEANUP	1	LS	19,937.00	19,937.00	65,000.00	65,000.00	70,000.00	70,000.00	182,000.00	182,000.00
2	TEMPORARY TRAFFIC CONTROL	1	LS	20,000.00	20,000.00	12,000.00	12,000.00	30,000.00	30,000.00	90,353.00	90,353.00
3	STORM WATER MANAGEMENT AND EROSION CONTROL	1	LS	7,500.00	7,500.00	10,000.00	10,000.00	10,000.00	10,000.00	20,000.00	20,000.00
4	DEMOLITION	23,725	SF	10.00	237,250.00	\$10.00	237,250.00	5.00	118,625.00	10.00	237,250.00
5	ASPHALT FULL DEPTH CONFORM	180	TON	\$260.00	\$46,800.00	\$300.00	\$54,000.00	\$500.00	\$90,000.00	\$350.00	\$63,000.00
6	ASPHALT CONCRETE WALKWAY	45	TON	\$260.00	\$11,700.00	\$300.00	\$13,500.00	\$750.00	\$33,750.00	\$525.00	\$23,625.00
7	TYPE "A" CURB & GUTTER	650	LF	\$25.00	\$16,250.00	\$80.00	\$52,000.00	\$100.00	\$65,000.00	\$90.00	\$58,500.00
8	TYPE "E" CURB	90	LF	\$25.00	\$2,250.00	\$66.00	\$5,940.00	\$150.00	\$13,500.00	\$85.00	\$7,650.00
9	PEDESTRIAN CONCRETE (EXPOSED AGGREGATE)	13,985	SF	\$30.00	\$419,550.00	\$25.00	\$349,625.00	\$20.00	\$279,700.00	\$32.00	\$447,520.00
10	CURB RAMP WITH DETECTABLE WARNING SURFACE (COLONIAL RED)	8	EA	\$5,000.00	\$40,000.00	\$2,400.00	\$19,200.00	\$8,000.00	\$64,000.00	\$6,000.00	\$48,000.00
11	CAST IN PLACE DETECTABLE WARNING SURFACE (COLONIAL RED)	5	EA	\$2,000.00	\$10,000.00	\$400.00	\$2,000.00	\$2,000.00	\$10,000.00	\$2,850.00	\$14,250.00
12	VEHICULAR CONCRETE	1,955	SF	\$30.00	\$58,650.00	\$35.00	\$68,425.00	\$28.00	\$54,740.00	\$38.00	\$74,290.00
13	4-INCH THERMOPLASTIC STRIPING	250	LF	\$2.00	\$500.00	\$15.00	\$3750.00	\$6.25	\$1562.50	\$5.00	\$1250.00
14	6-INCH THERMOPLASTIC STRIPING	340	LF	\$2.00	\$680.00	\$9.00	\$3060.00	\$6.25	\$2125.00	\$5.00	\$1700.00
15	CONTINENTAL CROSSWALK	2,285	SF	\$5.00	\$11,425.00	\$10.00	\$22,850.00	\$12.50	\$28,562.50	\$10.00	\$22,850.00

16	PAVEMENT MARKINGS	15	EA	\$350.00	\$5,250.00	\$450.00	\$6,750.00	\$375.00	\$5,625.00	\$300.00	\$4,500.00
17	STRIPED PARKING STALL NUMBER	7	EA	\$100.00	\$700.00	\$100.00	\$700.00	\$187.50	\$1312.50	\$150.00	\$1050.00
18	REINSTALL EXISTING SIGN ON NEW POLE	16	EA	\$300.00	\$4,800.00	\$300.00	\$4,800.00	\$500.00	\$8,000.00	\$450.00	\$7,200.00
19	NEW SIGN ON NEW POLE	10	EA	\$500.00	\$5,000.00	\$860.00	\$8,600.00	\$687.50	\$6,875.00	\$600.00	\$6,000.00
20	SELF-SERVICE PAY STATION RELOCATION	6	EA	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$1,800.00	\$10,800.00	\$1,000.00	\$6,000.00
21	FOUNTAIN RELOCATION	1	LS	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00
22	ACCESSIBLE DRINKING FOUNTAIN	1				\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00
23	TYPE "A" CATCH BASIN	1	EA	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00
24	TRENCH DRAIN	1	LS	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
25	12-INCH STORM DRAIN (HDPE)	1	EA	\$2100.00	\$2,100.00	\$1500.00	\$1,500.00	\$20000.00	\$20,000.00	\$9000.00	\$9,000.00
26	ADJUST UTILITY TO GRADE	7	EA	\$700.00	\$4,900.00	\$300.00	\$2,100.00	\$800.00	\$5,600.00	\$900.00	\$6,300.00
27	RESET NGS BENCHMARK	1	EA	\$2,500.00	\$2,500.00	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
28	RESET SURVEY MONUMENT	1	EA	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$12,500.00	\$12,500.00	\$3,500.00	\$3,500.00
29	BIORETENTION AREA	1	LS	\$55,000.00	\$55,000.00	\$26,000.00	\$26,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00
30	BOLLARDS	16	EA	\$1,500.00	\$28,500.00	\$2,400.00	\$38,400.00	\$2,500.00	\$40,000.00	\$2,500.00	\$40,000.00
31	MISCELLANEOUS FURNISHINGS AND FENCING	1	LS	\$75,000.00	\$75,000.00	\$20,000.00	\$20,000.00	\$60,000.00	\$60,000.00	\$100,000.00	\$100,000.00
32	IRRIGATION	1	LS	\$75,000.00	\$75,000.00	\$70,000.00	\$70,000.00	\$125,000.00	\$125,000.00	\$94,013.00	\$94,013.00
33	PLANTING	1	LS	\$70,000.00	\$70,000.00	\$90,000.00	\$90,000.00	\$69,000.00	\$69,000.00	\$52,878.00	\$52,878.00
34	ELECTRICAL MANHOLE	1	LS	\$7,500.00	\$7,500.00	\$80,000.00	\$80,000.00	\$115,000.00	\$115,000.00	\$125,175.00	\$125,175.00
			<u> </u>	Page Pid	1,263,742.00		1,316,450.00		1,449,277.50		1,820,354.00

Bid Alterr	ative - Widened Concrete Sidewalk at Humboldt Ave.	_	_	Engineers	Estimate	Bauman Lan	dscaping Inc.	Kerex Engir	neering, Inc	Ghilotti E	Brothers
ŧ	Description	Quantity	Unit	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cos
1	DEMOLITION	3,895	SF	\$10.00	\$38,950.00		\$31,160.00	\$8.00	\$31,160.00	\$14.00	\$54,530.0
2	ASPHALT FULL DEPTH CONFORM	40	TON	\$260.00	\$10,400.00	\$550.00	\$22,000.00	\$750.00	\$30,000.00	\$500.00	\$20,000.0
3	ASPHALT CONCRETE WALKWAY (DEDUCT)	45	TON	(\$260.00)	(\$11,700.00)	-\$300.00	-\$13,500.00	-\$500.00	-\$22,500.00	-\$250.00	-\$11,250.0
4	TYPE "A" CURB & GUTTER	240	LF	\$25.00	\$6,000.00	\$100.00	\$24,000.00	\$125.00	\$30,000.00	\$120.00	\$28,800.0
5	PEDESTRIAN CONCRETE (EXPOSED AGGREGATE)	3,100	SF	\$30.00	\$93,000.00	\$25.00	\$77,500.00	\$25.00	\$77,500.00	\$45.00	\$139,500.0
6	CURB RAMP WITH DETECTABLE WARNING SURFACE (COLONIAL RED	2	EA	\$5,000.00	\$10,000.00	\$2,400.00	\$4,800.00	\$15,000.00	\$30,000.00	\$12,000.00	\$24,000.0
7	ADJUST UTILITY TO GRADE	2	EA	\$700.00	\$1,400.00	\$300.00	\$600.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.0
8	REINSTALL EXISTING SIGN ON NEW POLE	2	EA	\$300.00	\$600.00	\$400.00	\$800.00	\$500.00	\$1,000.00	\$450.00	\$900.0
				id Alternative 1 =	\$148,650.00		\$147,360.00		\$178,760.00		\$259,480.0

Bid Alter	id Alternative 2 - Gravel Pave on Tracy Way			Engineers Estimate		Bauman Landscaping Inc.		Kerex Engineering, Inc		Ghilotti Brothers	
#	Description	Quantity	Unit	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost
1	ASPHALT GRINDING	5,100	SF	\$3.00			\$15,300.00	\$5.00		\$4.00	\$20,400.00
2	PLACE AND COMPACT ASPHALT GRINDING	5,100	SF	\$3.00	\$15,240.00	\$1.50	\$7,650.00	\$12.00	\$61,200.00	\$4.00	\$20,400.00
3	GRAVELPAVE - TYPE 2	5,100	SF	\$5.00	\$25,400.00	\$8.00	\$40,800.00	\$18.00	\$91,800.00	\$14.00	\$71,400.00
4	GRAVEL FILL	15	CY	\$80.00	\$1,200.00	\$750.00	\$11,250.00	\$1,200.00	\$18,000.00	\$650.00	\$9,750.00
5	PEDESTRIAN CONCRETE (EXPOSED AGGREGATE)	150	SF	\$30.00	\$4,500.00	\$25.00	\$3,750.00	\$100.00	\$15,000.00	\$65.00	\$9,750.00
				1							
			В	id Alternative 1 =	\$61,580.00		\$78,750.00		\$211,500.00		\$131,700.00

Bid Altern	ative 3 - Replace standard Bollards with Lighted Bollards			Engineers	Estimate	Bauman Land	dscaping Inc.	Kerex Engir	neering, Inc	Ghilotti I	Brothers
#	Description	Quantity	Unit	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost
1	LIGHTED BOLLARDS	16	EA	\$5,000.00	\$95,000.00	\$3,700.00	\$59,200.00	\$7,500.00	\$120,000.00	\$6,000.00	\$96,000.00
2	BOLLARDS (DEDUCT)	16	EA	(\$1,500.00)	(\$28,500.00)	-\$2,400.00	-\$38,400.00	-\$6,000.00	-\$96,000.00	-\$1,900.00	-\$30,400.00
			В	id Alternative 1 =	\$66,500.00		\$20,800.00		\$24,000.00		\$65,600.00

d Alter	rnative 4 - Exclude Improvements at Tracy Way		Τ	Engineers Estimate		Bauman Landscaping Inc.		Kerex Engineering, Inc		Ghilotti Brothers	
	Description	Quantity	Unit	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cost	Unit Cost	Cos
1	DEMOLITION (DEDUCT)	3,500	SF	(\$10.00)	(\$34,850.00)	-\$6.00	-\$21,000.00	-\$8.00	-\$28,000.00	-\$5.00	-\$17,500.0
2	ASPHALT FULL DEPTH CONFORM (DEDUCT)	20	TON	(\$260.00)	(\$5,200.00)	-\$540.00	-\$10,800.00	-\$500.00	-\$10,000.00	-\$300.00	-\$6,000.0
3	TYPE "A" CURB & GUTTER (DEDUCT)	110	LF	(\$25.00)	(\$2,750.00)	-\$80.00	-\$8,800.00	-\$130.00	-\$14,300.00	-\$61.00	-\$6,710.0
4	TYPE "E" CURB (DEDUCT)	90	LF	(\$25.00)	(\$2,250.00)	-\$60.00	-\$5,400.00	-\$100.00	-\$9,000.00	-\$58.00	-\$5,220.0
5	PEDESTRIAN CONCRETE (EXPOSED AGGREGATE) (DEDUCT)	2,330	SF	(\$30.00)	(\$69,900.00)	-\$25.00	-\$58,250.00	-\$20.00	-\$46,600.00	-\$13.00	-\$30,290.0
6	CURB RAMP WITH DETECTABLE WARNING SURFACE (COLONIAL RED) (DEDUCT)	2	EA	(\$5,000.00)	(\$10,000.00)	-\$2,400.00	-\$4,800.00	-\$7,500.00	-\$15,000.00	-\$3,900.00	-\$7,800.0
7	CAST IN PLACE DETECTABLE WARNING SURFACE (COLONIAL RED) (DEDUCT)	1	EA	(\$2,000.00)	(\$2,000.00)	-\$800.00	-\$800.00	-\$500.00	-\$500.00	-\$2,000.00	-\$2,000.0
8	ADJUST UTILITY TO GRADE (DEDUCT)	1	EA	(\$700.00)	(\$700.00)	-\$300.00	-\$300.00	-\$500.00	-\$500.00	-\$850.00	-\$850.0
9	NEW SIGN ON NEW POLE (DEDUCT)	2	EA	(\$400.00)	(\$800.00)	-\$400.00	-\$800.00	-\$500.00	-\$1,000.00	-\$600.00	-\$1,200.0
10	MISCELLANEOUS FURNISHINGS AND FENCING	1	LS	-\$75,000.00	(\$75,000.00)					\$0.00	\$0.0
			<u> </u>	id Alternative 1 =	-\$203,450.00		-\$110,950.00		-\$124,900.00		-\$77,570.0

	Yes,	Yes, Ohio	
	Philadelphia	Casualty	
	Indeminity	Insurance	
Bidders Bond	Insurance	Company	Yes, Hartord
License check - Bidder	372478 A, C-27	1002913 Class A	132128 Class A
	DIR 1000024797	DIR 1000033698	
License check - Subcontractor	CT Electrical, 1035694	Delac Electric 1000003588	Austin Enterprise
	Striping Graphics 576756	Lonestar Landscape 100000234	Tully Inc 100000
		Bayside Striping 1000001757	RMT Landscapin
			s&S Motors 100(
			Bayside Striping
			Farwest Safety 1
			Mike Brown Elec
Debarment Check - Federal			
Debarment Check - State of California			
DBE & SBE Check	Bauman is a certified SBE	Kerex is a certified SBE, 24.6% co	22.6% noted

Person Opening Bids	KM	7/22/2024
Person Checking Material	SK	7/22/2024